Midterm exam – 2003

1.
(35) Below are two layers of a reciprocal lattice.   All the layers in the reciprocal lattice are the same as one or the other of those shown and alternate. The layers stack on top of one another with the x’s directly above one another.  The separation between the layers is 0.0816 Å-1.

Determine crystal system, Bravais lattice, approximate lattice parameters, and possible space groups.  Show how you obtained your answers with the appropriate arguments and calculations.
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2.  (65) Give a complete and detailed derivation, in proof-like fashion, of the equation:
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Start from the description of a single very narrow slit (Cowley, eqn. 2.33).  Detailed means discuss and justify every tiny step.

